
Chapter 3. Second Order Linear Equations 

TABLE 3.5.1 The Particular Solution of ay" +by'+ cy = gi(t) 

Pn (t) = aotn + a1tn-l + · · · + an 

Pn(t)eat 

P 1 {sin f3t n (t)ea 
cos f3t 

Yi(t) 

ts(Aotn + Aitn-l +···+An) 

f (Aotn + Aitn-i + · · · + An)eat 

t~[(Aotn + Aitn-l + · · · + An)eat COS {Jt 

+ (Botn + B1tn-l + · · · + Bn)eat sin {Jt] 

Notes. Heres is the smallest nonnegative integer (s = 0, 1, or 2) that will ensure that no 
term in Y; (t) is a solution of the corresponding homogeneous equation. Equivalently, 
for the three cases, sis the number of times O is a root of the characteristic equation, a is 
a root of the characteristic equation, and a + i/3 is a root of the characteristic equation, 
respectively. 
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